ORIGINAL CONTINENTAL

OIL & GAS CONSERVATION DIVISION WELL COMPLETION FORM	County Phillips 7
ACO-1 WELL HISTORY DESCRIPTION OF WELL AND LEASE MAY 2	0 1992 77 20 50 50
Operator: License # 5447	0 1902 NW SE Sec. 32 Twp. 5S Rge. 20 — Ea
Name: OXY USA, Inc.	DEN 1650 Ft. North from Southeast Corner of Section 1650
Address P. O. BOX 26100	
Oklahoma City, OK 73126-0100	Lease Name Ray A Well # 10
City/State/Zip	Field Name <u>Ray</u>
Purchaser: CITGO	Producing Formation Reagan
Operator Contact Person: Raymond Hui	Elevation: Ground 2152 KB 2157
Phone (405) 749-2471	Total Depth 3611' PBTD 3570'
Contractor: Name: Allen Drilling Company	5280
License: <u>5418</u>	4620
Wellsite Geologist: William Keller STATE CORPO	CEIVED 3960 3630
Designate Type of Completion	2970
X New Well Re-Entry Workover APR	(1 9 1991
X Oil SWD Temp. Abd. CONSER Gas Inj Delayed Comp. Wic	VATION DIVISION
Dry Other (Core Water Supply of Wic	ita, Kansas
The course of th	\ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \ \
If OWNO: old well info as follows: Operator:	330 4-/1-9/
Well Name:	Amount of Surface Pipe Set and Cemented at 344 Feet
Comp. DateOld Total Depth	
Drilling Method:	Multiple Stage Cementing Collar Used? X Yes No.
X Mud Rotary Air Rotary Cable	If yes, show depth setDV Tool at 1701' Feet
2-17-91 2-21-91 4-3-91 Spud Date Date Reached ID Completion Date	If Alternate II completion, cement circulated from
completion pare	feet depth toO w/350 sx cmt.
writing and submitted with the form. See rule 82-3-19 wireline logs and drillers time log shall be attached with the form with all plugged wells. Submit CP-111 form with all conversion of a well requires filing of ACO-2 within 120 days	d filed with the Kansas Corporation Commission, 200 Colorado of the spud date of any well. Rule 82-3-130, 82-3-107 and e held confidential for a period of 12 months if requested in 07 for confidentiality in excess of 12 months. One copy of all his form. ALL CEMENTING TICKETS MUST BE ATTACHED. Submit CP-4 temporarily abandoned wells. Any recompletion, workover or s from commencement date of such work.
	ated to regulate the oil and gas industry have been fully complied best of my knowledge.
Signature Vîc Tumlinson	K.C.C. OFFICE USE ONLY
itle <u>Operations Drilling Manager</u> Date <u>4-</u>	5-91 F V Letter of Confidentiality Attached C V Wireline Log Received
subscribed and sworn to before me this $\underline{-5th}$ day of $\underline{-Apri}$	C Drillers Timelog Received
otary Public <u>Kay am Kilme</u>	Distribution
ate Commission Expires 4-16-94	(Specify)
•	

SIDE THO

	OXY USA, Inc	•		Lease Na	me Rav A		بالملا	4 10
		East			Phillips		wett	#
Sec. <u>32</u> Twp. <u>5</u>	S Rge. 20	X West			THITITUS			
INSTRUCTIONS: Sho interval tested, hydrostatic pressu if more space is n	ires, bottom hole	temperature.	formation flowing and fluid reco	s penetrațed d shut-in pr overy, and fl	. Detail al essures, whe ow rates if g	l cores. Report ther shut-in p as to surface d	rt all dril ressure re uring test.	l stem tests g ached static l Attach extra
Drill Stem Tests T (Attach Additio		Yes 2	No			Formation Des	scription	
Samples Sent to Ge	ological Survey					Log	Sample	
Cores Taken		Yes [No No	Name		Тор	Bot	tom
lectric Log Run		X Yes] "				500	COM
(Submit Copy.)		.63	NO	Topeka		3099	310	69
				Le Compt	ton	3169	32	
Ran GR/C	CCL log.			Oread		3211	32.	57
				Heebner		3257	328	82
				Toronto		3282	330	03
				LKC		3303	350	07
				Basal Pe	enn	3507	354	46
	-			Reagan		3546	36	
			RECORD	PBID			36	11
Purpose of String Surface	Size Hole Drilled	Size Casi Set (In 0		Weight Lbs./Ft.	Setting Depth	Type of Cement	# Sacks Used	Type and Perc Additives
	_	0 3/0		24#	344'	C1.A	255	_3% cc
								İ
Production	7 7/8"	5 1/2"		14#	3610 '	*Pls refer	to cse	info helow
Shots Per Foot	PERFORATION Specify Footage	RECORD of Each Into	erval Perf	orated	Acid, (Amount and	*Pls refer Fracture, Shot,	Cement Sou	ueeze Record
Shots Per Foot	PERFORATION Specify Footage Set CIBP at	RECORD of Each Into	erval Perf		Acid, (Amount and	Fracture, Shot.	Cement Sou	
Shots Per Foot 4 4	PERFORATION Specify Footage Set CIBP at 3574-76'	RECORD of Each Into	erval Perf	orated	Acid, (Amount and	Fracture, Shot, d Kind of Mater	Cement Squial Used)	Depth
Shots Per Foot	PERFORATION Specify Footage Set CIBP at	RECORD of Each Into	erval Perf	orated	Acid, (Amount and	Fracture, Shot, d Kind of Mater	Cement Sou	Depth
Shots Per Foot 4 4 4	PERFORATION Specify Footage Set CIBP at 3574-76' 3576-78	RECORD of Each Into	erval Perf	orated	Acid, (Amount and	Fracture, Shot, d Kind of Mater	Cement Squial Used)	Depth
Shots Per Foot 4 4 4	PERFORATION Specify Footage Set CIBP at 3574-76' 3576-78	RECORD of Each Into	erval Perf	orated	Acid, (Amount and	Fracture, Shot, d Kind of Mater	Cement Squial Used)	Depth
Shots Per Foot 4 4 4 4 4 .	PERFORATION Specify Footage Set CIBP at 3574-76' 3576-78 3553-3555	RECORD of Each Into	erval Perf	orated	Acid, (Amount and	Fracture, Shot, d Kind of Mater	Cement Squial Used)	Depth
Shots Per Foot 4 4 4 4 4 4 UBING RECORD	PERFORATION Specify Footage Set CIBP at 3574-76' 3576-78 3553-3555 Size 2 7/8	RECORD of Each Into	erval Perf	orated	Acid, (Amount and	Fracture, Shot, d Kind of Mater	Cement Squial Used)	ueeze Record
Shots Per Foot 4 4 4 4 4 UBING RECORD	PERFORATION Specify Footage Set CIBP at 3574-76' 3576-78 3553-3555 Size 2 7/8	RECORD e of Each Into	erval Perf	orated SX On CIB	Acid, (Amount and P Spotted Liner Run	Fracture, Shot, d Kind of Mater 250 gal N	Cement Squial Used)	Depth
Shots Per Foot 4 4 4 4 4 UBING RECORD	PERFORATION Specify Footage Set CIBP at 3574-76 3576-78 3553-3555 Size 2 7/8 ction Producing n Oil	RECORD e of Each Into	erval Perf	orated SX On CIB	Acid, (Amount and P) Spotted Liner Run	Fracture, Shot, d Kind of Mater 250 gal Ni	Cement Squial Used) E acid No	Jeeze Record Depth 3574-76
Shots Per Foot 4 4 4 4 4 9 UBING RECORD ate of First Production 3-25-91 stimated Production Per 24 Hours	PERFORATION Specify Footage Set CIBP at 3574-76' 3576-78 3553-3555 Size 2 7/8 ** ction Producing	Set At 3555 Method	erval Perf	orated SX ON CIB acker At mping Ga Mcf Water	Acid, (Amount and P Spotted Liner Run S Lift 0 Bbls.	Fracture, Shot, d Kind of Mater 250 gal N Yes ther (Explain)	Cement Squial Used) E acid No	Depth
Shots Per Foot 4 4 4 4 4 4 9 UBING RECORD ate of First Production 3-25-91 stimated Production Per 24 Hours sposition of Gas:	PERFORATION Specify Footage Set CIBP at 3574-76' 3576-78 3553-3555 Size 2 7/8 ^M ction Producing n Oil 21	Set At 3555 Method Bbls. Ga	erval Perf	orated SX ON CIB acker At mping Ga	Acid, (Amount and P Spotted Liner Run S Lift 0 Bbls.	Fracture, Shot, d Kind of Mater 250 gal N Yes ther (Explain)	Cement Squial Used) E acid No	Jeeze Record Depth 3574-76
Shots Per Foot 4 4 4 4 4 9 JBING RECORD Ate of First Production At a 25-91 Stimated Production Per 24 Hours Position of Gas: Vented Sold	PERFORATION Specify Footage Set CIBP at 3574-76! 3576-78 3553-3555 Size 2 7/8 ction Producing n Oil 21	Set At 3555 Method Bbls. Galactic Action of Each Interest Action of Each Int	erval Perf	orated SX ON CIB acker At mping Ga Mcf Water 117	Acid, (Amount and P) Spotted Liner Run S Lift 0 Bbls.	Fracture, Shot, d Kind of Mater 250 gal N Yes ther (Explain) Gas-Oil	Cement Squial Used) E acid No Ratio	Gravity
Shots Per Foot 4 4 4 4 4 9 JBING RECORD Ate of First Production 3-25-91 Itimated Production Per 24 Hours position of Gas:	PERFORATION Specify Footage Set CIBP at 3574-76! 3576-78 3553-3555 Size 2 7/8 ction Producing n Oil 21	Set At 3555 Method Bbls. Gase	erval Perf	orated SX ON CIB acker At mping Ga Mcf Water 117 OF COMPLETIO	Acid, (Amount and P) Spotted Liner Run S Lift 0 Bbls.	Fracture, Shot, d Kind of Mater 250 gal N Yes ther (Explain)	Cement Squial Used) E acid No Ratio Procommin	Gravity
Shots Per Foot 4 4 4 4 4 9 JBING RECORD Ite of First Production 3-25-91 timated Production Per 24 Hours position of Gas: Vented Sold	PERFORATION Specify Footage Set CIBP at 3574-76! 3576-78 3553-3555 Size 2 7/8 ction Producing n Oil 21 Used on Leadonit ACO-18.)	Set At 3555 Method Flo Bbls. Ga	erval Perf	orated SX ON CIB acker At mping Ga Mcf Water 117 OF COMPLETIO	Acid, (Amount and Parties of Spotted Liner Run Slift 0 Bbls. 7	Fracture, Shot, d Kind of Mater 250 gal N Yes ther (Explain) Gas-Oil	Cement Squial Used) E acid No Ratio Proceeding Comming	Gravity oduction Interv

ORIGINAL

REMIT TO: P.O. BOX 951046 DALLAS, TX 75395-1046

INVOICE NO.

INVOICE

HALLIBURION SERVIC A Halliburton Company

051280 02/17/1991

DATE

WELL /PLANT LCCATION WELL/PLANT OWNER WELL LEASE NO./PLANT NAME STATE KS OXY USA PHILLIPS RAY A 10

SERVICE LOCATION CONTRAC		ACTOR	JOB PURPOSE		TICKET	DATE	
OBERLIN	1	ALLEN DRL	G '	CEMENT SURFACE CASING	<u> </u>	02/17	/1991
ACCT NO	CUSTOMER AC	GENT	VENDOR NO.	CUSTOMER P.O. NUMBER	SHIPPED	VIA	FILE NO.
559167	JIM NOWELL		E 26	een	COMPANY	TRUCK	10559

OXY USA INC.

MAY 2 0 1992

DIRECT CORRESPONDENCE TO:

REGIONAL OFFICE

FIRST OKLAHOMA TOWER 210 WEST PARK AVENUE

ATT: G. I. MCFARLAND FROM CONFIDENTIAL SUITE 2050 OKLAHOMA CITY, OK 73126-0100

OKLAHOMA CITY, OK 73102-5601

9-15	7Q347 X Q360.1/7	2 4	3/	6 Am	
PRICE REF NO	DESCRIPTION	QUANTITY	MM	ONIT PRICE	AMOUNT
PRICING ARI	A - MID CONTINENT				
000-117	MILEAGE	50	MI	2.35	117.50
		1.	UNT		
000-118	MILEAGE SURCHARGE-CEMENT-LAND	50	MI	.40	20.00
		1	UNT		
001-016	CEMENTING CASING	344	FT	480.00	480.00
		1	UNT		
030-503	CMTG PLUG LA-11.CP-1,CP-3,TOP	8 5/8	IN	90.00	90.00
		1	EA		
40	CENTRALIZER 8 5/8" MODEL S-4	3	EA	53.00	159.00
807.93059					
504-308	STANDARD CEMENT	255	SK	6.75	1,721.25
509-406 507-210	ANHYDROUS CALCIUM CHLORIDE FLOCELE	8	SK	26.25	210.00
500-207	BULK SERVICE CHARGE	64	LB	1.30	83.20
500-306	MILEAGE CMTG MAT DEL OR RETURN	275		1.10	302.50
500-300	MILEAGE SURCHARGE CEMENT MAT.	616.85 616.85	i i	. 75	462.64
300 301	MILLAGE SORCHARGE CEMENT MAI.	010.03	TMI	.10	61.69
					,
	INVOICE SUBTOTAL				3.707.78
				Fig. 200 Ca. London	3,707.76
	DISCOUNT-(BID)	g	STATE	RECEIVED	725.21-0
	INVOICE BID AMOUNT		TIMIEU	ORPCHATION COMMISSION	2,982.570
	OKLAHOMA CITY, EAS		* .		2,302.37
	*-KANSAS STATE SALES	TAY	A	PR n 9 1991	99.920
	CISB. MAPPECATUR COUNTY SAT	SC TAX			23.51
	MA	₹ 6 1991 !	CUM	SERVATION DIVISION	
	CO-DIY-SUP LOC-COOE DUE DATE	SEL ML CL	ľ	Wichita, Kansas	
	1332				
	327-77				
	S/U TAX MC PC BID ACCTR. APP	C. Peatt bee.			
	l l l		1		
	INVOICE TOTAL - PLEASE PAY THIS	NA MOUSEM			4.5
	INVOICE IDIAL " PLEASE PAY THI	AMUUNT ==	====		\$3,106.00

AFFIX JOB TKT

INVOICES PAYABLE NET BY THE 20TH OF THE FOLLOWING MONTH AFTER DATE OF INVOICE UPON CUSTOMER'S DEFAULT IN PAYMENT OF CUSTOMER'S ACCOUNT BY THE LAST DAY OF THE MONTH FOLLOWING THE MONTH IN WHICH THE INVOICE IS DATED CUSTOMER AGREES TO PAY NETERSY THEREON AFTER DEFAULT AT THE HIGHEST LAWFUL CONTRACT RATE APPLICABLE BUT NEVER TO EXCEED 13°, PER ANNUM IN THE EVENT IT BECOMES NECESSARY TO EMPLOY AN ATTORNEY TO EXPERCE COLLECTION OF SAID ACCOUNT CUSTOMER AGREES TO PAY ALL COLLECTION COSTS AND ATTORNEY FEES IN THE AMOUNT OF THE AMOUNT OF THE UNPAID ACCOUNT

REMIT TO:

P.O. BOX 951046 DALLAS. TX 75395-1046

HALLIBURTON SERVICES

INVOICE NO.

A Halliburton Company 051265 02/21/1991 WELL LEASE NO./PLANT NAME WELL/PLANT OWNER 000 I **PS** KS RAY A-10 OXY USA INC. CONTRACTOR SERVICE LOCATION JOB PURPOSE TICKET DATE COC C C CC C C VENDOR NO ,° 9°8 P869UCTION CASING OBERLIN 02/21/1991 GUSTOMER P.O. NUMBER CUSTOMER AGENT ACCT. NO. FILE NO. 659167 JIM NOWELL COMPANY TRUCK 10849 RELEASED

OXY USA INC.

MAY 2 0 1992

DIRECT CORRESPONDENCE TO:

REGIONAL OFFICE

ATT: G. I. MCFARLAND FROM CONFIDENTION

FIRST OKLAHOMA TOWER 210 WEST PARK AVENUE SUITE 2050

OKLAHOMA CITY, OK 73126-0100

OKLAHOMA CITY, OK 73102-5601

PRICE REF. NO.	DESCRIPTION	QUANTITY	U/M	UNIT PRICE	AMOUNT
507-970	D-AIR 1, POWDER	19	LB	2.55	48.45
507-775	HALAD-322	38		5.95	226.10
504-308	STANDARD CEMENT	50	SK	6.75 -	337.50
508-291	GILSONITE BULK	300		.35	105.00
508-112	MICROBOND	470	LB	.85	399.50
507-775	HALAD-322	35	i i	5.95	208.25
507-210	FLOCECE	13	1	Commence of the 1980 Commence	
504-316	HALLIBURTON LIGHT W/STANDARD	350	SK	6.10 -	2,135.00
507-210	FLOCELE	88	LB	1.30	114.40
509-968	SLAT GRANULATED (ON SIDE)	400	LB	.10	40.00
500-207	BULK SERVICE CHARGE	RD . 508	CFT	1.10	558.80
500-306	MILEAGE CMTG MAT DEL OR RETURN	1269.08	TMI	.75	951.81
500-307	MILEAGE SURCHARGE CEMENT MAT.	1269.08	1 :	.10	126.91
	INVOICE SUBTOTAL		·		13,274.37
	DISCOUNT-(BID)				2,625.49-
	INVOICE BID AMOUNT				10,648.88
			n	ECEIVED	10,040.00
	*-KANSAS STATE SALES	TAX STA	TE COR	CRATION COMMISSION	323.99
	*-DECATUR COUNTY SAL				76.25
		/	'AD	R (19 1991	1 W a fa w/
	91572347 X 2360	ノノフフム	AF	(119 1991	
	111/2011 1 2300	1/21	CONSER	IVATION DIVISION	
			Wic	hita, Kansas	
		,		, , , , , , , , , , , , , , , , , , , ,	
		32		1006	
		5/8	2	۱ ۱	
			22	/	
	INVOICE TOTAL - PLEASE PAY THIS	AMOUNT ==			\$11,049.12
APPTV TOD W	TERMS INVOICES PAYABLE NET BY THE 20TH OF THE FO	OLLOWING MONTH AFTER	DATE OF	INVOICE. UPON	

AFFIX JOB TKT

CUSTOMER'S DEFAULT IN PAYMENT OF CUSTOMER'S ACCOUNT BY THE LAST DAY OF THE MONTH FOLLOWING THE MONTH IN WHICH THE INVOICE IS DATED, CUSTOMER AGREES TO PAY INTEREST THEREON AFTER DEFAULT AT THE HIGHEST LAWFUL CONTRACT RATE APPLICABLE BUT NEVER TO EXCEED 18% PER ANNUM. IN THE EVENT IT BECOMES NECESSARY TO EMPLOY AN ATTORNEY TO ENFORCE COLLECTION OF SAID ACCOUNT. CUSTOMER AGREES TO PAY ALL COLLECTION COSTS AND ATTORNEY FEES IN THE AMOUNT OF 20% OF THE AMOUNT OF THE UNPAID ACCOUNT.

INVOICE NO.

USTOMER COPY

P.O. BOX 951046 ALLAS, TX 75395-1046

A Halliburton Company

						051265		1/1991
	WELL LEASE NO./PLANTA	NAME	MEH / MLA	MILYSONIAN & CA	STATE	WELL/	PLANT OWNE	A Company
RAY A-1	LO		PHILLIPS	8 8 05 5 0 00 000	KS	OXY USA I	NC.	
SEF	RVICE LOCATION	CONTR	RACTOR	JOB PUR	POSE		TICKE	T DATE
OBERLIN	•	ALLEN DRI	ILLING COC CI	EFENG PRODUCT	TION CA	SING	02/2	1/1991
ACCT. NO.	CUSTOMER A	GENT	VENDOR NO.	CUSTOMER P.O.	. NUMBER	SHIPPE	D VIA	FILE NO.
659167	JIM NOWELL		RELEASED E-26			COMPANY	TRUCK	10849

MAY 2 0 1992

OXY USA INC. FROM CONFIDENTIAL REGIONAL OFFICE ATT: G. I. MCFARLAND PO BOX 26100 OKLAHOMA CITY, OR 73126-0100

DIRECT CORRESPONDENCE TO:

FIRST OKLAHOMA TOWER 210 WEST PARK AVENUE SUITE 2050 OKLAHOMA CITY, OK 73102-5601

PRICE REF. NO.	DESCRIPTION	QUANTITY	U/M3	UNIT PRICE	AMOUNT
PRICING ARE	A - MID CONTINENT				
000-117	MILEAGE	50	MI	2.35	117.50
	· ·	1	UNT		
000-118	MILEAGE SURCHARGE-CEMENT-LAND	50	MI	.40	20.00
		1.	UNT		
007-013	MULT STAGE CEMENTING-1ST STAGE	3610	FT	1,145.00	1,145.00
001-016	and the second of the second o	1	UNT	and the same of the same and th	A STATE OF THE STA
007-161	MULT STAGE CEMENTING-ADD STAGE	1	STG	950.00	950.00
		1	UNT		
018-317	SUPER FLUSH	12	SK	74.00	888.00
26	INSERT VALVE F. S 5 1/2" 8RD	1	EA	222.30	222.30
847.6318	. `			*	,
2.7	FILL-UP UNIT 5 1/2"-6 5/8"	1	EA	30.00	30.00
815.19311					
40	CENTRALIZER 5-1/2" MODEL S-4	10	EA	44.00	440.00
807.93022					
71	MULT STAGE CMTR-5-1/2 8RD	1	EA	2,450.00	2,450.00
813.80300		The second secon			,
75	PLUG SET 5 1/2"	CEIVED	EA	400.00	400.00
812.0162	STATE CORP	RATION COMMISSION		-	
320	CEMENT BASKET 5 1/2"	2	EA	90.00	180.00
800.8883	ΔPR	n 9 1991			
350	HALLIBURTON WELD-A	2	LB	11.00	. 22.00
890.10802		WORSIVIE MORTAY			
	STANDARD CEMENT Wit	hita, Kansas 25	SK	6.75	168.75
506-105	POZMIX A	25	SK	3.50	87.50
506-121	HALLIBURTON-GEL 2%	1	SK	.00	N/C
	SALT	239	LB	. 10	23.90
1	HALAD-322	3 2	LB	5.95	190.40
1	FLOCELE	13	LB	1.30	16.90
	STANDARD CEMENT	80	SK	6.75	540.00
	SALT	5/6 347	LB	. 10	34.70
508-127	CAL SEAL	> 4	SK	19.70	78.80
- Company of the Comp	**** CONTINUED	N NEXT PAGE		* * *	

AFFIX JOB TKT

INVOICES PAYABLE NET BY THE 20TH OF THE FOLLOWING MONTH AFTER DATE OF INVOICE. UPON CUSTOMER'S DEFAULT IN PAYMENT OF CUSTOMER'S ACCOUNT BY THE LAST DAY OF THE MONTH FOLLOWING THE MONTH IN WHICH THE INVOICE IS DATED, CUSTOMER AGREES TO PAY INTEREST THEREON AFTER DEFAULT AT THE HIGHEST LAWFUL CONTRACT RATE APPLICABLE BUT NEVER TO EXCEED 18. PER ANNUM IN THE EVENT IT BECOMES NECESSARY TO EMPLOY AN ATTORNEY TO ENFORCE COLLECTION OF SAID ACCOUNT CUSTOMER AGREES TO PAY ALL COLLECTION COSTS AND ATTORNEY FEES IN THE AMOUNT OF THE UNPAID ACCOUNT